Section 1.6 — Second Order Derivatives

1. Given the following graph of y = f(x), fill in the following table.
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2. |Iffisrepresented by the following table, fill in the missing rows on the table with the best
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3. Given the following graph of y = f(x), fill in the following table and draw graphs of f" and f”.
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4. Giventhaty = f(x) = x3, use the algebralc definition to find a formula for y=f(x) and y =
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5. Given the following graph of y = f(x), fill in the following table and draw a graph of f"and f”.
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6. Optional: Draw a graph of fthat is consistent with the following table
fl fll

;I/
Values (intervals) (-2,0), (4,6) (2,6) \

where negative

Values where equal | x=0, x=4 X=2
to zero

Values (intervals) (0,4) (-2,2)
where positive

/&//(’A)L”'L 5”\0197‘2 7»57!, 7‘2\@5"&
ﬂr&\/LS o [ Hle




